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JSONO OO og

{
"result": {
"total": 7,
"items": [
{
"report year": "2019",
'name": "O000000O00O0OO0O"
"social security": {
"base medical down balance": "00 O,
"actual endownment amount": "47.0142080 O ",
"injury insurance num": "1680 ",
"injury insurance amount": "-",
"insurance num": "1680 ",
"birth num": "1680 ",
"basic_ medical amount": "314.18320 0",
"unenployment insurance": "293.83880 O ",
"basic endownment num": "1680 ",
"birth insurance count": "00 O ",
"unenployment num": "1680 ",
"birth amount": "00 O ",
"actual injury amount": "2.0653920 0",
"endownment base amount": "293.83880 O ",
"birth actual amount": "00 O ",
"actual medical amount": "33.9317950 0",
"endownment insurance amount": "00 O ",
"actual lost amount": "2.3507040 O ",
"unenployment down balance": "00 O ",
"company injury down balance": "00 0"
7
"report_date": "2020-06-24"
}

]
}' n "

"reason": "success",
"sign": "219¢5402f730409e82a9694693108f65",

"error code": 0

}
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